
 

 

 

https://testzone.smartkeeda.com/Test/Pricing


 

 

Puzzle Test Questions for IBPS Clerk Pre, LIC Asst., SBI Clerk Pre and RRB 
Scale I Pre Exams. 

Set No 63 
 

Directions: Read the given information carefully and answer the questions given beside: 
 

Aastha, Niharika, Pranab, Vidhi and Rachna are five friends. They study in different schools at different places. 
Two of those schools are The Doon School and The Valley school. All of the persons mentioned are the 
permanent residents of different localities of Delhi viz. Ganesh nagar, Pandav nagar, Laxmi nagar, Paharganj 
and Geeta Colony. 
 
The person who studies in Greenwood School lives in Paharganj while Rachna lives in Ganesh nagar. Aastha 
studies in The Valley school and lives in Laxmi nagar. Niharika studies neither in St. Xavier’s high School nor in 
Agra Public School and lives in Pandav Nagar. Vidhi doesn’t study in St. Xavier’s High School and lives in Geeta 
Colony. 
 
 

1. Four of the following five are alike in a certain way and thus form a group. Find the one 
which does not belong to that group? 

A. Vidhi – Paharganj   B. Pranab – Pandav nagar  C. Niharika – Laxmi nagar 
D. Rachna – The Doon School  E. Niharika – Pandav nagar 
 

2. Who studies in Greenwood School? 

A. Pranab  B. Rachna  C. Vidhi  D. Cannot be determined   
E. None of these 
 

3. Which one of the following is a student of St. Xavier’s High School?  

A. Vidhi  B. Pranab  C. Niharika  D. Rachna  E. None of these 
 

4. Who lives in Paharganj? 
 

A. Niharika  B. Pranab  C. One who studies in The Doon School  
D. One who studies in St. Xavier’s School E. None of these 
 

5. Which one of the following studies in The Doon School? 

A. Niharika  B. Pranab  C. Vidhi  D. Rachna  E. None of these 
 
 
Correct Answers: 

1 2 3 4 5 

E A D B A 



 

 

Common explanation: 

 
Reference: 
Aastha studies in The Valley school and lives in Laxmi nagar. 
 
Inference: 

Name School Locality 

Aastha The Valley School Laxmi Nagar 

Niharika     

Pranab     

Vidhi     

Rachna     

  
Reference: 
Vidhi doesn’t study in St. Xavier’s High School and lives in Geeta Colony. 
 
Inference: 

Name School Locality Hint 

Aastha The Valley School Laxmi Nagar   

Niharika       

Pranab       

Vidhi   Geeta Colony St. Xavier’s - × 

Rachna       

  
Reference: 
Rachna lives in Ganesh nagar.  
  
Inference: 

Name School Locality Hint 

Aastha The Valley School Laxmi Nagar   

Niharika       

Pranab       

Vidhi   Geeta Colony St. Xavier’s - × 

Rachna   Ganesh Nagar   

  
Reference: 
Niharika studies neither in St. Xavier’s high School nor in Agra Public School and lives in Pandav Nagar. 
 
Inference: 

Name School Locality Hint 

Aastha The Valley School Laxmi Nagar   

Niharika   Pandav Nagar St. Xavier’s - ×, Agra Public - × 

Pranab       

Vidhi   Geeta Colony St. Xavier’s - × 

Rachna   Ganesh Nagar   

 



 

 

Reference: 
 
The person who studies in Greenwood School lives in Paharganj. 
 
Inference: 
 

Name School Locality Hint 

Aastha The Valley School Laxmi Nagar   

Niharika   Pandav Nagar St. Xavier’s - ×, Agra Public - × 

Pranab Greenwood School Paharganj   

Vidhi   Geeta Colony St. Xavier’s - × 

Rachna   Ganesh Nagar   

  
Now,  we know that neither Niharika nor Vidhi study in St. Xavier's high school that means Rachna is the one 
who studies there. 
 
Niharika also doesn't study in Agra public school, that means Vidhi must be studying there and the only left 
school i.e. The doon school is the one where Niharika studies. 
 

Name School Locality Hint 

Aastha The Valley School Laxmi Nagar   

Niharika The Doon School Pandav Nagar   

Pranab Greenwood School Paharganj   

Vidhi Agra Public School Geeta Colony St. Xavier’s - × 

Rachna St. Xavier's High School Ganesh Nagar   

  
Final table: 
 

Name School Locality 

Aastha The Valley School Laxmi Nagar 

Niharika The Doon School Pandav Nagar 

Pranab Greenwood School Paharganj 

Vidhi Agra Public School Geeta Colony 

Rachna St. Xavier’s High School Ganesh Nagar 

 
 
 
 
 
 
 
 
 
 
 
 



 

 

Answers : 
 

1. Following common explanation, we get 

Niharika - Pandav nagar is the right combination. Combinations in all the other options were wrongly 

matched. 

Option E, is hence the correct answer. 
 
 

2.   Following common explanation, we get 
Pranab studies in Greenwood School. 
Option A, is hence the correct answer. 
 

 

3.  Following common explanation, we get 
Rachna is a student of St. Xavier’s HIgh School. 
Option D, is hence the correct answer. 

 

 

4.   Following common explanation, we get 
Pranab lives in Paharganj. 
Option B, is hence the correct answer. 

 

 

5.  Following common explanation, we get 
Niharika studies in The Doon School. 
Option A, is hence the correct answer. 
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